BHARAT COKING COAL LIMITED SIJUA AREA

Ref.No.GM/SA/Plg./ 4951 /10

Dated 04.12.2010

OPEN TENDER NOTICE

Sealed Tender on percentage rate basis in two Bids system (Tech/Com. Bid and Price Bid) are hereby invited from bonafide, experienced, resourceful and registered contractors for the following works.

Name of work	Estimated	Earnest	Cost of	Time of
	Cost	Money	Tenderpaper	Completion
Construction of 10 Nos. Ventilation Stoppings at 3 pit III seam 27 deep district of Sendra Bansjora Colliery.		Rs.1392/-	Rs. 100/-	Two month

The tender will be received separately in two sealed covers in Part –I and Part –II on 16.12.2010 up to 3.00 P.M. in office of the undersigned, Sijua Area.

- 1. (a) Part –I i.e. Technical/Commercial Bid should contain the proof of credentials, earnest money deposit, Sale Tax Clearance/VAT & PAN. The Part –I will be opened on 16.12.2010 at 3.30 P.M. in the presence of the tenderers or their authorized representatives.
 - (b) Part –II i.e. Bid, containing the Tender Documents issued to the tenderers where –inrate will be furnished in figures and words will be opened by the Tender Committee only on acceptance of the Part-I Bid.
- 2. The Tender paper can be had from the office of the undersigned on written request on any working day from 13.12.2010 to 14.12.2010 on payment of requisite cost as indicated above to be deposited in cash with associate finance at Sijua Area.

ELIGIBILITY CRITERIA:-

- i) The intending tenderers must have, in the name experience and having successfully completed similar works during last (Seven) years
- ii) The intending tenderers must have, in the name experience of having successfully completed some similar works during last 7 years ending last day of month previous to the one in which applications are invited should be either of the followings:
 - a) Three similar completed works costing not less than the amount equal to 40% of the estimated cost.

Or

b) Two similar completed works each costing not less than the amount equal to 50% of the estimated value.

Or

- c) One similar completed work costing not less than an amount equal to 80% of the estimated cost.
- N.B."Similar work means the nature of work as described, in the name of the work should match with the work successfully completed in mines
- 1) The tenderers must have average annual financial turn over during last three years ending 31st March of previous financial year i.e. in 2007-08, 2008-09 & 2009-10 should be at least 30% of the estimated value.(to be submitted TDS Form -16).

- 2) Rate to be quoted in % above/below of the estimated cost both in figure and words in BCCL prescribed forms.
- 3) The contractor have to acquainted with the site condition.
- 4) All Taxes as applicable will be born by the Contractor.
- 5) The tenderers have to submit their name of Bank, name of branch & bank a/c number.
- 6) The Earnest money to be deposited in cash with associated finance at Sijua Area or in form of Demand Draft in favour of Bharat Coking Coal Ltd., Dhanbad. Earnest money bears no interest and may be refunded only to the unsuccessful tenderers in due course on completion of formalities.
- 7) Tenderers have to be fully acquainted and satisfy themselves with the NIT & site condition, drawings, estimates etc. before submitting their tenders.
- 8) All other terms and conditions of General NIT Rules of BCCL and/or other authorities/statutory bodies as applicable from time to time.
- 9) Validity of Tender shall be 120 days from the date of opening of the price Bid or revised Bid if any.
- 10) The management of BCCL reserves the right to reject any or all the tenders without assigning any reasons what- so- ever or to split up and distribute the work amongst the tenderers.
- 11) No material shall be issued by the department.
- 12) No Tender will be issued or submitted by postal means.
- 13) Issuance of Tender Documents does not mean that the party is considered qualified.
- 14) Conditional tender will not be accepted.
- 15) In case of any injury/accident it will be the responsibility of the Contractor to pay all legal dues to their workers.

•

Area Manager (Plg.) Sijua Area

Copy to :-All CGM/GMs, Area 1 to 12 Block –II, EJ Area, WJ Area. GM/AGM/AFM/,Sijua Area. Project officers, all units of Sijua Area. Notice Board. Sijua Area.

BILL OF QUANTITY

Construction of 10 nos. V/ Stoppings in 3 pit III seam of 3 pit Sendra Bansjora Colliery

Item	Details	Quantity	Rate	Amount
No.				Rs.
1	Recess cutting in coal side & floor	19.6 cu.m.	152.60/cu.m.	2990.96
2	CBW in F/P.	23.77 cu.m.	2007.00/c.m.	47706.39
3	CBW in S/S.	34.88 cu.m.	2137.96/cu.m.	74572.04
4	Plastering	123.30 sq.m.	67.65/sq.m.	8341.24
5	Carriage of materisal			
	Brick	29500 nos.	79.53/1000	2346.13
	Sand	18 cu.m.	42.61/cu.m.	766.98
	Cement	80 bags	1.234/bag	98.72
6	Loading/unloading of materials			
	in to tubs.	58.65 cu.m.	38.81/cu.m.	2276.20
7	Neat cement punning for board making.	3.6 sq.m.	21.40/sq.m.	77.04
	Total			139175.70